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_F. E. Examination - 2006

ENGINEERING GRAPHICS - I
Time : 4 Hours] [Max. Marks : 100

Instructions :
(1) Answer any one question from each unit.
(2) Answers to the two sections should be written in separate
answer books.
(3} Black figures to the right indicate full marks.
(4) Assume suitable data, if necessary.

SECTION - I
UNIT - 1

Q.1) The front view of a 80 mm long line PQ is 60 mm in length. Its
top view is 70 mm long. Ends P, Q and Midpoint of line PQ, i.e.
‘M’ are in the first quadrant. M is 30 mm away from HP and 40
mm away from VP. Point ‘Q’ is nearer to both the reference planes
as compared to point ‘P’.
(1) Locate points P and Q.
(2) Draw projections of line PQ.
(3) Locate HT and VT of the said line.
(4) Find inclinations of line PQ with HP and VP. [16]
OR

Q.1) Two mangoes on a tree are 5.4 m and 9 m above the ground, and 3.6
m and 6.3 m in front of a vertical wall respectively. The distance between
the mangoes measured parallel to the wall is 8.1 m.

(1) Determine the real distance between them.

(2)  Show the positions of mangoes when both of them fall vertically
down on the ground.

(3) Find the distance between them in fallen position, on ground. [16]
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Q.2) A square plate with 50 mm long diagonals is seen as a quadrilateral
with lengths of diagonals as 50 mm and 30 mm in top view. One
corner of the square plate is resting on HP.

(1) Draw the projections of this plate when the projected shorter
diagonal makes 30° with VP.

*(2) Find the angle made by the plate with HP and VP.
OR

Q.2) ABCDEF is a thin regular hexagonal plate in VP with 30 mm side
of base. Keeping corner A in VP, corner D is brought 30 mm in front

of VP.
(1)  Obtain the projections of the plate when edge CD is parallel to
HP.

(2) - Find inclinations of the plate with HP and VP.
UNIT - 3

Q.3) A square pyramid with side of base = 40 mm and length of
axis = 70 mm rests on HP on one edge of base, AB, such that the
axis makes 30° with HP and is parallel to VP.

A sphere of diameter = 40 mm is kept on HP, which centrally touches
the triangular face of the pyramid containing edge AB.

Draw the projections of this combination when the plane containing
the axis of pyramid and the centre of sphere makes an angle of 45°
with VP, with opex of pyramid away from the observer.

OR

Q.3) A pentagonal pyramid, side of base = 30 mm and length of
axis = 60 mm rests on one edge of its base on HP, such that the
corner opposite to the said edge is 25 mm above the HP.

Draw projections of the pyramid when this edge makes 30° with VP
and base is visible to the observer.
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Q.4) A hexagonal prism with side of base 30 mm and axis 70 mm long
is held on a corner of its base on HP with axis inclined at 30° to
the HP and parallel to VP. It is cut by a cutting plane, HT of which
makes 30° angle with XY line and passes through a point on the axis,
20 mm from the hexagonal end nearer to the observer. Draw the

projections and obtain true shape of cut section on auxiliary plane. [16]

OR

Q.4) A hemisphere of 72 mm diameter is kept on its flat face on HP. A
section plane inclined at 45° to the HP and perpendicular to VP, passing
through the flat face and 12 mm from its centre cuts this hemisphere.
Draw sectional top view and obtain true shape of the cut section.

(The uncut portion of the hemisphere is considerably less than the
removed portion.)

UNIT - 5

Q.5) A hexagonal pyramid with side of base 30 mm and axis 70 mm long
rests on its base on HP with one edge of base parallel to VP.
A horizontal square hole of 30 mm side is cut through it such that
its rectangular faces are equally inclined to HP and axis is perpendicular
to VP. The axis of the square hole is 25 mm above HP and 6 mm
to the right side of the pyramid axis. Draw development of the cut
solid and top view of the cut solid. '

OR

Q.5) Figure shows development of a tetrahedron of 80 mm side. A rhombus
PQRS (PR = 100 mm, QS = 50 mm) is marked on it. Draw FV and
TV of the tetrahedron with base ABC resting on HP and edge OA

parallel to VP.
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Q.6)

UNIT - 6

A vertical cylinder of 75 mm diameter and height 100 mm is completely
penetrated by a horizontal triangular prism of base 60 mm side and
axis 120 mm long. A rectangular face of the prism is inclined at 45°
to HP. The two axes bisect each other. Draw projections showing the
curves of the intersection, when the axis of the triangular prism is parallel
to both HP and VP. {1n

OR

A vertical cone, base 100 mm diameter and axis 100 mm long is
completely penetrated by a vertical square prism of base 40 mm side.
The axis of the prism is 10 mm away on right side of the cone axis.
The faces of the prism are equally inclined to the VP. The plane
containing the two axes is parallel to VP. Draw three views of this
combination (FV, TV and RSV) showing the curves of intersection. [17]
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